INPERFSOM (B XK)

BEIEL| BBEES A4 L & #A L—y
1 B BB 10.00 1 2 4
2 3 N 10.32 1 3 7
3 e B 10.63 2 3 3
4 TE HE 10.86 3 3 4
5 =B #HF 11.09 2 2 6
6 #F BX 11.23 4 3 5
7 INE BEF 11.38 1 1 4
8 £k EZH 11.70 3 2 5
9 ke 2THE 11.74 5 3 6
10 iEiD X 11.82 6 3 2
11 B T 11.88 2 1 6
12 i #F=R 11.98 4 2 7
13 RE RE 12.18 3 1 5
14 mE aH 12.20 5 2 2
15 =k B 12.73 4 1 7
16 HE HIF 17.20 6 2 3
17 gl #7IF 20.64 5 1 2
18 R 2 x 1 3




INBEE L F50m

BeEEN| HEER A4 L = 4 L—
1 meE Ek 8.21 1 2 7
2 g 22 8.32 1 3 6
3 b 31 313 8.61 2 3 4
4 AH EFE 8.62 2 2 3
5 hEF FW 8.83 3 3 7
6 EE TE 8.84 4 3 3
7 BE 2 9.58 3 2 4
8 Rk = 9.80 1 1 7
9 oA O 9.87 2 1 4
10 B BB 10.20 3 1 3
11 TE S8 10.69 4 2 6
12 ER BK 10.70 4 1 6
13 HE LWVBER 11.00 5 2 5
14 Ix #& 11.28 5 1 5
15 o BE x 1 2
16 28 #% /4 3 5




INEBF50m

BEI\GI] HBEEA A4 L = # L—y
1 fafl HtE 7.12 1 8 4
2 R X% 7.65 1 7 5
3 ED MA 7.70 2 8 5
3 k8 5 7.83 2 7 6
5 EE ER 8.05 2 6 5
6 #FR E£X 8.05 1 6 7
7 XKAR & 8.16 3 8 6
8 TP g & 8.23 3 6 6
9 tE IRTT 8.24 3 7 3
10 ®EEH BE 8.28 1 5 6
11 EH EB 8.30 4 7 7
12 B bR 8.30 4 8 7
13 A &E 8.33 2 5 7
14 ER EH 8.50 3 5 5
15 hE Bt 8.53 1 4 5
16 2l ER 8.69 4 5 3
17 B2E BHE 8.75 2 4 4
18 #0O HH 8.92 3 4 6
19 o &a 9.02 5 8 3
20 mE E 9.17 4 4 7
21 sk FE 9.28 1 1 2
22 XE — &K 9.38 5 4 3
23 fH &= 9.41 1 2 7
24 Wik R 9.48 1 3 3
25 & B 9.59 2 2 2
26 B KR 9.60 3 2 6
27 HH B 9.62 2 3 7
28 RE R 9.97 4 2 3
29 &5 BA 10.00 5 5 4
30 kA ‘A 10.09 2 1 3
31 EE E 10.11 3 3 6




32 TE R’ 10.23 3 1 7
33 BE &5 10.25 4 1 4
34 gk 58k 10.25 5 2 4
35 XAR RE 10.28 4 3 4
36 HE E— 10.37 5 3 2
37 &2 f] 10.44 6 4 2
38 A mo 10.78 5 1 5
39 HE =X 10.85 6 1 6
40 &H && 10.94 4 6 3
41 hE EH 11.22 6 3 5
42 2l RE 12.45 6 2 5
43 fHEA BEA x 6 4
44 IHAx BHE /4 7 4




—#8 5B F50m

BEIEL| HEER A4 L & # L—

1 R#E BF 7.60 1 8
— % 5 F50m

BEIRE| WHEES A4 L - # L—
1 XH & 6.33 1 2 5
2 28 —F 6.39 2 2 7
3 28 - 6.50 3 2 4
4 ZH XF 6.58 1 1 4
5 *XE it 6.59 2 1 5
6 i NN 6.61 4 2 2
7 XAR 8FE 7.60 3 1 3
8 B2 #Ht 7.81 4 1 2
9 =B Ak 9.70 5 1 6
10 nx #E 14.87 6 1 7
11 28 — R 2 3
12 BH #X x 2 6




INFE LT F1500m

BEIEL| BREEA a4 L & L—y
1 @R OFY 5.32.40 5 6
2 hE WX 5.42.47 9 2
3 pE BZ 5.42.95 10 17
4 BH B2 5.58.57 14 3
5 &F DB 6.50.22 15 4
6 & R x 1
INE B F1500m
BEIEE| WEEA A4 L = L—y
1 %8 N 4.54.17 1 14
2 eH 3 5.02.80 2 15
3 MR HA 5.02.87 3 11
4 HmHE E#R 5.31.53 4 10
5 amf Bt 5.39.38 6 7
6 HFh BEX 5.41.66 7 12
7 KE M 5.42.25 8 5
8 e 8 5.50.59 11 8
9 EH BE 5.55.25 12 16
10 fa¥ & 5.55.39 13 9
11 AH BEAS R 13




—#&%cF1500m

BEIEL| BEEA F RPN & L—y
1 ®%® BF x 1
—#& 5 F1500m
BEIEE| HBEESA A4 L = L—y
1 Wik kA 4.35.58 1 7
2 # BN 4.36.06 2 2
3 KE E# 451.02 3 4
4 *H BEE 4.56.90 4 13
5 KiZ HE 5.08.96 5 9
6 ®F B 5.19.09 6 5
7 Al ¥— 5.24.45 7 10
8 HE /- 5.30.41 8 3
9 En & 5.51.43 9 6
10 miE ®=a 6.24.30 10 11
1" NidE %R 6.33.19 11 12
12 BE BF x 8




—#8 % ¥ 300m

BEERE| BBEESA 24 L & # L—y
1 ik =R 50.01 1 1 5
2 @%ARK UOFY 50.03 2 1 3
3 MR R 50.18 3 1 4
4 RE HF x 1 6

—#& 5 F300m

BERG| HBEES A4 L & # L—y
1 AH B/AE 44.71 1 2 4
2 B3 AKX 47.39 2 2 6
3 R e 47.84 3 2 7
4 k¥ BA 48.47 4 2 8
5 BH# mX 52.55 5 2 5
6 RE ®H 53.68 6 2 2
7 BH & 53.91 7 2 3




INEZF100m

BEEM| HEEEA 24 L & | L—y
1 gk 2ok 15.79 1 2 3
2 EH # 16.74 2 2 4
3 AH EZ 16.87 1 1 4
4 B RkE 17.37 2 1 2
5 B2 T2 17.43 3 2 7
6 hEF FW 17.96 4 2 6
7 BX %2 19.03 3 1 5
8 ER BK 20.52 4 1 7
9 X B 21.03 5 1 3
10 ;Fo=EB x 1 6
11 2 5




INEBF100m

BEIEL BER a4 L & # L—
1 ol HE 13.56 1 5 5
2 B3 AKX 14.16 2 5 4
3 B R 14.53 3 5 6
4 R X% 14.64 1 4 5
5 EB 5 14.95 2 4 3
6 R EiE 14.98 4 5 7
7 EH =3 15.06 5 5 3
8 #HF X 15.79 1 3 3
9 EEX EER 15.81 3 4 4
10 MmE LT 15.82 4 4 7
11 1T 7 ¥ 2 16.02 2 3 5
12 hE Bt 16.20 1 1 5
13 EH ER 16.22 2 1 2
14 KE M 16.35 1 2 4
15 EH EBR 16.50 3 3 6
16 BH & 16.67 4 3 4
17 &R BE 16.82 5 3 2
18 e X 16.87 5 4 2
19 ER B 16.91 2 2 2
20 1 R 17.49 3 2 3
21 #0O 5P 17.66 3 1 7
22 oM A 17.88 6 5 2
23 Fik BA 17.94 4 1 4
24 S BE 18.06 6 3 7
25 E 8 18.15 4 2 6
26 XE — 5% 18.37 5 1 3
27 LA 18.54 5 2 7
28 HH FEE 18.75 6 1 6
29 e B 19.22 6 4 6
30 &8 BH 20.65 6 2 5




— i F100m

BEIRGL| BBEA B4 L & # L—y
1 ik XH 14.44 6 1 7
2 xREE BA 14.72 7 1 8

— B F100m

BEERI| BBEA A4 L = 4 L—y
1 ZH XF 12.07 1 1 5
2 R ER 13.04 2 1 6
3 ®HiRx BR 13.15 3 1 2
4 KEH IEE 13.38 4 1 4
6 B % 14.03 5 1 3
7 BX & x 2 3
8 Mme B®AERH x 2 4
9 BmP B x 2 5
10 &k BE x 2 6
11 HiE ZIA x 2 7




INEZF1000m

BEIELL mEEA A4 L v iR L—y
1 £H # 4.04.54 2 1 1
2 At+E B 4.11.85 3 1 2
3 A+E E8 4.18.95 6 1 3

IMNEB F1000m

BEIELL mHEA a4 L & i L—
1 MR #A 3.26.35 1 1 9
2 EE& 5n 4.12.04 4 1 8
3 BB B 4.12.21 5 1 6
4 D RtEE 4.48.50 7 1 4
5 fEn 84 451.10 8 1 7
6 28 =8 x 1 5




— %2 F1000m

BEIRE| HEEA a4 L -1 # L=y
1 KT #B=EF 4.22.98 8 1 1
2 X =X 4 1 2

— % B F1000m

BEIEE| HHEEA a4 L r 1 i | L—y
1 2 = 2.55.59 1 1 9
2 FME EE 3.02.12 2 1 3
3 ZH XF 3.18.57 3 1 8
4 28 —IE 3.32.72 4 1 4
5 28 —% 4.14.36 5 1 5
6 K3* B 4.18.24 6 1 10
7 ¥2A - 4.21.40 7 1 6
8 A #X x 1 7




273)—1)L—

BE IR F—LA a4 L = L—y
1 BRI77IU— 1.00.33 1 7
2 HRI7zY— 1.00.58 2 3
3 =Eors)— 1.02.91 3 4
4 KARI7I— 1.03.05 4 5
4 BwLT7IY— 1.40.71 5 6




4 X 100mR

BEIRGL F—L% A4 L v -
1 E JEATOT 56.97 1 2
2 REX (B) 1.05.40 2 5
3 REX(A) 1.0759 3 7
4 =EREES 1.10.53 4 6
5 REX(C) x 3
6 - E LT NG R 4




